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If the beam was instead gubj@C{"@d o on exkernal wmoment
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Us\'n% conservotion o} energy, owne can F+nd deflecton or s\oPe

& o beam, or deformaton & any body in genesal - However,
the velabon has very imited use becauce tHhis yrethod can be

vsed to find deformahon oaly  hen o sinale load s od‘x‘na.

For woxe bMhan one external leod C'(:WCG/YV\OWIEHJE’), Prhe extevrnal
work  for  each loao\(na would have ik oassociated own unkneowon

o\isF\acemen\:- As such wvione o bthe c\\'st:\o.cemeﬂi—s con be determined
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Cos’n‘g liano’s  Hheorem

Thie  Yheorem F'rov:o\es oo way to determine o\isFlo.cemc-'nl— and
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Noe, i ony one oF bhe external ‘Porcez, Say PJ, s increased
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There {10«9, we have:

dU" = dPJ' S\)'
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Usmg o o\ummy ‘?crcelmament

If we are intevested in Hnd o\'{sP\acemenjc at o point in the bedy
where there is no corcesponding applied load ; o durmy load s

introduced ond Hhen Cash‘a\(ano’.s theorem is QFPh‘ecﬂ.
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4- Finally, set P =o (o M, =0) in the erpression -Pm— deflechon .
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